On the equivalence of some iteration schemes for a class of quasi-contractive operators

¹Hudson Akewe and ²Mary Odumosu Department of Mathematics, University of Lagos, Lagos, Nigeria

Abstract

We prove that Picard, Mann, Mann with errors, Ishikawa, Ishikawa with errors, Noor, Noor with errors, multistep and multistep iterations with errors are all equivalent when applied to a class of quasicontractive operators. Our results are extensions and generalisations of the known results of Soltuz [11, 12].

Keywords: Picard, Mann, Ishikawa, Noor, Multistep, iterations with their respective errors, quasi-contractive operators.

2000 AMS Mathematics Classification: 47H10

1.0 Introduction

Let X be a real normed space, K a non-empty, convex subset of X and T a self map in K. Let $x_0 \in K$. The *Picard iteration* (see [1]) is defined by

$$x_{n+1} = Tx_n, \ n \ge 0 \tag{1.1}$$

For any given u_0 , $x_0 \in K$, the sequence $\{u_n\}_{n=0}^{\infty}$ defined by

$$u_{n+1} = a_n^1 u_n + b_n^1 T u_n + c_n^1 s_n^1$$
(1.2)

where $\{a_n^1\}$, $\{b_n^1\}$ and $\{c_n^1\}$ are sequences in [0, 1] such that

$$a_n^1 + b_n^1 + c_n^1 = 1$$
 for all $n \ge 0$, $\{s_n^1\}$ is a bounded sequence in K and $\sum_{n=0}^{\infty} b_n^1 = \infty$

is called the Mann iterative scheme with errors (see [13]).

If $c_n = 0$ for every *n* in (1.2), we have the *Mann iterative scheme* (without errors) as

$$x_{n+1} = a_n^1 x_n + b_n^1 T x_n (1.3)$$

And if $c_n \equiv 1$ in (1.2), we have the Mann iterative scheme with errors in the sense of Liu [6] as:

$$x_{n+1} = a_n^1 x_n + b_n^1 T x_n + s_n^1$$
(1.3b)

The sequence $\{u_n\}_{n=0}^{\infty}$ defined by

$$u_{n+1} = a_n^2 u_n + b_n^2 T u_n^1 + c_n^2 s_n^2$$

$$u_n^1 = a_n^1 u_n + b_n^1 T u_n + c_n^1 s_n^1, \ n \ge 0$$
(1.4)

where $\{s_n^2\}_{n=0}^{\infty}$, $\{s_n^1\}_{n=0}^{\infty}$ are bounded sequences in K and $\{a_n^2\}_{n=0}^{\infty}$, $\{b_n^2\}_{n=0}^{\infty}$, $\{c_n^2\}_{n=0}^{\infty}$, $\{a_n^1\}_{n=0}^{\infty}$, $\{b_n^1\}_{n=0}^{\infty}$, $\{c_n^1\}_{n=0}^{\infty}$, $\{c_n^1\}_{n=0}^{\infty}$, are real sequences in [0,1] such that $a_n^1 + b_n^1 + c_n^1 = a_n^2 + b_n^2 + c_n^2 = 1$ for all $n \ge 0$ and $\sum_{n=0}^{\infty} b_n^1 = \infty$, is called *Ishikawa iterative scheme with errors* (see [13]).

If $c_n^2 = c_n^1 = 0$ in (1.4), we have the *Ishikawa iterative scheme* (without errors) as

$$x_{n+1} = a_n^2 x_n + b_n^2 T x_n^1$$

$$x_n^1 = a_n^1 x_n + b_n^1 T x_n, \ n \ge 0$$
(1.5)

If $c_n^2 = c_n^1 = 1$ in (1.4), we have the Ishikawa iteration with errors in the sense of Liu [4] as

$$x_{n+1} = a_n^2 x_n + b_n^2 T x_n^1 + s_n^2$$

$$x_n^1 = a_n^1 x_n + b_n^1 T x_n + s_n^1, \ n \ge 0$$
(1.5b)

In [9], the sequence $\{u_n\}_{n=0}^{\infty}$ defined by

$$u_{n+1} = a_n^3 u_n + b_n^3 T u_n^2 + c_n^3 s_n^3$$

$$u_n^2 = a_n^2 u_n + b_n^2 T u_n^1 + c_n^2 s_n^2$$

$$u_n^1 = a_n^1 u_n + b_n^1 T u_n + c_n^1 s_n^1, \ n \ge 0$$

(1.6)

where $\{s_n^1\}_{n=0}^{\infty}$, $\{s_n^2\}_{n=0}^{\infty}$ and $\{s_n^3\}_{n=0}^{\infty}$ are bounded sequences in K and $\{a_n^i\}_{n=0}^{\infty}$, $\{b_n^i\}_{n=0}^{\infty}$, $\{c_n^i\}_{n=0}^{\infty}$, are bounded sequences in [0, 1] such that $a_n^i + b_n^i + c_n^i = 1$ for each $i \in [1, 2, 3]$, $n \ge 0$ and $\sum_{n=0}^{\infty} b_n^1 = \infty$ is called the *Noor iterative scheme with errors*.

If $c_n = c_n^1 = c_n^2 = 0$ in (1.6), we have the *Noor iterative scheme* (without errors) as

$$x_{n+1} = a_n^3 x_n + b_n^3 T x_n^2$$

$$x_n^2 = a_n^2 x_n + b_n^2 T x_n^1$$

$$x_n^1 = a_n^1 x_n + b_n^1 T x_n$$
(1.7)

In [14], the multistep iterative scheme with errors is defined as

$$u_{n+1} = a_n^N u_n + b_n^N T u_n^{N-1} + c_n^N s_n^N$$

$$u_n^{N-1} = a_n^{N-1} u_n + b_n^{N-1} T u_n^{N-2} + c_n^{N-1} s_n^{N-1}$$

$$M \qquad M \qquad M$$

$$u_n^3 = a_n^3 u_n + b_n^3 T u_n^2 + c_n^3 s_n^3$$

$$u_n^2 = a_n^2 u_n + b_n^2 T u_n^1 + c_n^2 s_n^2$$

$$u_n^1 = a_n^1 u_n + b_n^1 T u_n + c_n^1 s_n^1$$
(1.8)

where $\{s_n^1\}_{n=0}^{\infty}, \{s_n^2\}_{n=0}^{\infty}, ..., \{s_n^N\}_{n=0}^{\infty}$ are bounded sequences in K, $\{a_n^i\}_{n=0}^{\infty}, \{b_n^i\}_{n=0}^{\infty}, ..., \{c_n^i\}_{n=0}^{\infty}$ are sequences in [0, 1] such that $a_n^i + b_n^i + c_n^i = 1$ for $i \in [1, 2, ..., N]$ and $\sum_{n=0}^{\infty} b_n^1 = \infty$.

Journal of the Nigerian Association of Mathematical Physics Volume 13 (November, 2008), 397 - 404 Iteration schemes for a class of quasi-contractive Hudson Akewe and Mary Odumosu *J. of JAMP*

¹e-maik: hudsonmolas@yahoo.com

²e-mail: kemiodumosu@yahoo.com

The authors are indebted to Dr. J. O. Olaleru for his guidance and assistance.

If we set $c_n^1 = c_n^2 = \dots = c_n^N = 0$ in (1.8), then it reduces to the *multistep iterative scheme (without errors)*.

$$\begin{aligned} x_{n+1} &= a_n^N x_n + b_n^N T x_n^{N-1} \\ x_n^{N-1} &= a_n^{N-1} x_n + b_n^{N-1} T x_n^{N-2} \\ \mathbf{M} & \mathbf{M} \\ .x_n^3 &= a_n^3 x_n + b_n^3 T x_n^2 \\ x_n^2 &= a_n^2 x_n + b_n^2 T x_n^1 \\ x_n^1 &= a_n^1 x_n + b_n^1 T x_n \end{aligned}$$
(1.9)

Remark 1.1

(i) If we set N = 3, in (1.8), we have the Noor Iteration scheme with erros (1.6)

(ii) If we set N = 3, with $c_n^1 = c_n^2 = c_n^3 = 0$ in (1.8), we have the Noor iteration scheme (1.7).

(iii) If we set N = 2 in (1.8), we have the Ishikawa iteration with errors (1.4).

(iv) If we set N = 2, with $c_n^1 = c_n^2 = 0$ in (1.8), we have the Ishikawa iteration (1.5)

(v) If we set N = 1 in (1.8), we have the Mann iteration with errors (1.2).

(vi) If we set
$$N = 1$$
, with $c_n^1 = 0$ in (1.8), we have the Mann iteration (1.3).

Definition 1.1 [15]

The operator $T: X \to X$ is a Zamfirescu operator if and only if there exist real numbers a, b, csatisfying 0 < a < 1, 0 < b, $c < \frac{1}{2}$, such that for each pair $x, y \in X$, at least one of the conditions is

true.

 $\begin{aligned} &(Z_1) & \|Tx - Ty\| \le a \|x - y\| \\ &(Z_2) & \|Tx - Ty\| \le b (\|x - Tx\| + \|y - Ty\|) \\ &(Z_3) & \|Tx - Ty\| \le c (\|x - Ty\| + \|y - Tx\|) \end{aligned}$

It is easy to show that every Zamfirescu operator T satisfies the inequality

$$||Tx - Ty|| \le \delta ||x - y|| + 2\delta ||x - Tx||$$

where
$$\delta = \max\left\{a, \frac{b}{1-b}, \frac{c}{1-c}\right\} < 1$$
.

Definition 1.2 [2]

Let (X, d) be a metric space. A mapping $T : X \to X$ is called an a-contraction if $d(Tx, Ty) \le ad(x, y)$, for all $x, y \in X$, where 0 < a < 1 (1.11)

(1.10)

The map
$$T$$
 is called a Kannan mapping [5] if there exists $b \in \left(0, \frac{1}{2}\right)$, such that
 $d(Tx, Ty) \leq b[d(x, Tx) + d(y, Ty)]$, for all $x, y \in X$ (1.12)

Journal of the Nigerian Association of Mathematical Physics Volume 13 (November, 2008), 397 - 404 Iteration schemes for a class of quasi-contractive Hudson Akewe and Mary Odumosu *J. of JAMP* The map T is called a Chatterjea mapping [3] if there exists $c \in \left(0, \frac{1}{2}\right)$, such that

$$d(Tx,Ty) \le c[d(x,Tx) + d(y,Ty)], \text{ for all } x, y \in X$$
(1.13)
Combining definitions (1.11), (1.12) and (1.13), we have (1.10).

Definition 1.3 [1]

Let (X, d) be a metric space. A mapping $T : X \to X$ is called a quasi-contraction if $d(Tx, Ty) \le h \max[d(x, y), d(x, Tx), d(y, Ty), d(x, Ty), d(y, Tx)],$ (1.14)

where 0 < h < 1.

Remark 1.2.

Definition 1.1 is a subclass of Definition 1.3. Olaleru [10] considered a class of quasi-contractive operators introduced by Osilike (see [1]) and defined thus:

Definition 1.4 [10]: Let (X,d) be a metric space, there exist $L \ge 0$, $a \in [0,1)$ such that for each x, $y \in X$,

$$d(Tx,Ty) \le Ld(x,Tx) + ad(x,y) \tag{1.15}$$

Observe that quasi-contraction maps (1.14) are independent of the class of quasi-contractive maps (1.15), while the class of quasi-contractive maps satisfying $(Z_1 - Z_3)$ are also quasi-contractive operators defined in (1.15).

In a recent paper, Soltuz [11] shows that the Picard, Mann and Ishikawa iterations are equivalent when dealing with quasi-contractive operators. In [12], it was also shown that for the same class of operators, Krasnoselskij, Mann, Ishikawa, Noor and multistep iterations are equivalent.

In [8, page 145], Rafiq states that the iterative schemes with errors introduced by Liu [6] are not satisfactory. The errors can occur in a random way. The conditions imposed on the error terms which say that they tend to zero as n tends to infinity are therefore, unreasonable. Better results are obtained if we use the iterative schemes introduced by Xu [13].

In 2007, Zhiqun [16] makes some remark on the equivalence of Picard, Mann and Ishikawa iterations for the class of quasi-contractive operators.

It is the main purpose of this paper to show that Picard, Mann, Mann with errors, Ishikawa, Ishikawa with errors, Noor, Noor with errors, multistep and multistep with errors are all equivalent for a class of quasicontractive operators. Our results extend and generalise the results of Soltuz [11, 12]. *Lemma* **1.5** [8]

Let $\{\theta\}_{n\geq 0}$ be a non-negative sequence which satisfies the following inequality

$$\theta_{n+1} \leq (1-\lambda_n)\theta_n + \delta_n + \gamma_n$$
 where $\lambda_n \in (0, 1), \ \gamma_n \geq 0$, for every $n \in N$, $\sum_{n=0}^{\infty} \lambda_n = \infty, \sum_{n=0}^{\infty} \gamma_n = \infty$ and $\gamma_n = o(\lambda_n)$ then $\lim_{n \to \infty} \theta_n = 0$

 $\gamma_n = o(\lambda_n)$, then $\lim_{n \to \infty} \theta_n = 0$.

2.0 Main Results

Theorem 2.1

Let X be a normed space, K a non-empty, convex, closed subset of X and $T: K \to K$ an operator satisfying the Zamfirescu conditions $(Z_1 - Z_3)$. Let $u_0 = x_0 \in K$ and define $\{u_n\}$ and $\{x_n\}$ as sequences satisfying respectively (1.8) and (1.9) with the conditions therein. If $\lim_{n \to \infty} c_n^i = 0$ for each i, then the

following are equivalent:

(ii) The multistep iteration with errors (1.8) converges to p.

⁽i) The multistep iteration (1.9) converges to p.

Proof

We prove that (i)
$$\Rightarrow$$
 (ii) using (1.8), (1.9) and (1.10) with $x = x_n$, $y = u_n . || x_n^1 - u_n^1 || =$
 $|| a_n^1 x_n + b_n^1 T x_n - (a_n^1 u_n + b_n^1 T u_n + c_n^1 s_n^1) ||$
 $\leq a_n^1 || x_n - u_n || + b_n^1 || T x_n - T u_n || + c_n^1 || s_n^1 ||$
 $\leq a_n^1 || x_n - u_n || + b_n^1 \delta || x_n - u_n || + 2b_n^1 \delta || x_n - T x_n || + c_n^1 || s_n^1 ||$
 $= (a_n^1 + b_n^1 \delta) || x_n - u_n || + 2b_n^1 \delta || x_n - T x_n || + c_n^1 || s_n^1 ||$ (1.16)
 $\leq [1 - b_n^1 (1 - \delta)] || x_n - u_n || + 2b_n^1 \delta || x_n - T x_n || + c_n^1 || s_n^1 ||$ (1.17)
 $= (1 - w_n^1) \theta_n + r_n^1 + t_n^1$

where
$$w_n^1 = b_n^1(1-\delta)$$
, $r_n^1 = m_n^1 v_n$, $m_n^1 = 2b_n^1 \delta$, $v_n = || x_n - Tx_n ||$, $t_n^1 = c_n^1 || s_n^1 ||$.
Using (1.17) and (1.10), we have
 $|| x_n^2 - u_n^2 || = || a_n^2 x_n + b_n^2 Tx_n^1 - (a_n^2 u_n + b_n^2 Tu_n^1 + c_n^2 s_n^2) ||$
 $\leq a_n^2 || x_n - u_n || + b_n^2 || Tx_n - Tu_n || + c_n^2 || s_n^1 ||$
 $\leq a_n^2 || x_n - u_n || + b_n^2 \delta || x_n^1 - u_n^1 || + 2b_n^2 \delta || x_n^1 - Tx_n^1 || + c_n^2 || s_n^2 ||$
 $\leq a_n^2 || x_n - u_n || + b_n^2 \delta (1 - b_n^1 (1 - \delta)) || x_n - u_n ||$
 $+ 2b_n^1 b_n^2 \delta^2 || x_n - Tx_n || + 2b_n^2 \delta || x_n^1 - Tx_n^1 || + c_n^1 b_n^2 \delta || s_n^1 || + c_n^2 || s_n^2 ||$
 $= [1 - a_n^2 + b_n^2 \delta - b_n^1 b_n^2 \delta (1 - \delta)] || x_n - u_n ||$
 $+ 2b_n^1 b_n^2 \delta^2 || x_n - Tx_n || + 2b_n^2 \delta || x_n^1 - Tx_n^1 || + c_n^1 b_n^2 \delta || s_n^1 || + c_n^2 || s_n^2 ||$
 $= [1 - b_n^2 (1 - \delta) - c_n^2 - b_n^1 b_n^2 \delta (1 - \delta)] || x_n - u_n ||$
 $+ 2b_n^1 b_n^2 \delta^2 || x_n - Tx_n || + 2b_n^2 \delta || x_n^1 - Tx_n^1 || + c_n^1 b_n^2 \delta || s_n^1 || + c_n^2 || s_n^2 ||$
 $\leq [1 - b_n^2 (1 - \delta) - c_n^2 - b_n^1 b_n^2 \delta (1 - \delta)] || x_n - u_n ||$
 $+ 2b_n^2 \delta^2 || x_n - Tx_n || + 2b_n^2 \delta || x_n^1 - Tx_n^1 || + c_n^1 b_n^2 \delta || s_n^1 || + c_n^2 || s_n^2 ||$
 $\leq [1 - b_n^2 (1 - \delta)] || x_n - u_n || + 2b_n^1 b_n^2 \delta^2 || x_n - Tx_n ||$
 $+ 2b_n^2 \delta || x_n^1 - Tx_n^1 || + c_n^1 b_n^2 \delta || s_n^1 || + c_n^2 || s_n^2 ||$
 $= (1 - w_n^2) \theta_n + r_n^2 + t_n^2$
where $w_n^2 = b_n^2 (1 - \delta)$, $r_n^2 = m_n^2 v_n^1$, $m_n^2 = 2b_n^2 \delta$, $v_n^1 = b_n^1 \delta || x_n - Tx_n || + || x_n^1 - Tx_n^1 ||$

where $w_n^2 = b_n^2 (1 - \delta)$, $r_n^2 = m_n^2 v_n^1$, $m_n^2 = 2b_n^2 \delta$, $v_n^1 = b_n^1 \delta || x_n - Tx_n || + || x_n^1 - Tx_n^1 ||$, $t_n^2 = c_n^1 b_n^2 \delta || s_n^1 || + c_n^2 || s_n^2 ||$.

Using (1.18) and (1.10), we have
$$||x_n^3 - u_n^3|| = ||a_n^3 x_n + b_n^3 T x_n^2 - (a_n^3 u_n + b_n^3 T u_n^2 + c_n^3 s_n^3)||$$

$$\leq a_n^3 ||x_n - u_n|| + b_n^3 ||Tx_n^2 - T u_n^2|| + c_n^3 ||s_n^3||$$

$$\leq a_n^3 ||x_n - u_n|| + b_n^3 \delta ||x_n^2 - u_n^2|| + 2b_n^3 \delta ||x_n^2 - T x_n^2|| + c_n^3 ||s_n^3||$$

$$\leq a_n^3 ||x_n - u_n|| + b_n^3 \delta (1 - b_n^2 (1 - \delta))||x_n - u_n||$$

$$+ 2b_n^1 b_n^2 b_n^3 \delta^3 ||x_n - T x_n|| + 2b_n^2 b_n^3 \delta^2 ||x_n^1 - T x_n^1||$$

$$+ 2b_n^3 \delta ||x_n^2 - T x_n^2|| + c_n^1 b_n^2 b_n^3 \delta^2 ||s_n^1|| + c_n^2 b_n^3 \delta ||s_n^2|| + c_n^3 ||s_n^3||$$

$$= [1 - b_n^3 - c_n^3 + b_n^3 \delta(1 - b_n^2 (1 - \delta))] \| x_n - u_n \| + 2b_n^1 b_n^2 b_n^3 \delta^3 \| x_n - Tx_n \| + 2b_n^2 b_n^3 \delta^2 \| x_n^1 - Tx_n^1 \| + 2b_n^3 \delta \| x_n^2 - Tx_n^2 \| + c_n^1 b_n^2 b_n^3 \delta^2 \| s_n^1 \| + c_n^2 b_n^3 \delta \| s_n^2 \| + c_n^3 \| s_n^3 \| \leq [1 - b_n^3 (1 - \delta)] \| x_n - u_n \| + 2b_n^1 b_n^2 b_n^3 \delta^3 \| x_n - Tx_n \| + 2b_n^2 b_n^3 \delta^2 \| x_n^1 - Tx_n^1 \| + 2b_n^3 \delta \| x_n^2 - Tx_n^2 \| + c_n^1 b_n^2 b_n^3 \delta^2 \| s_n^1 \| + c_n^2 b_n^3 \delta \| s_n^2 \| + c_n^3 \| s_n^3 \| = [1 - b_n^3 (1 - \delta)] \| x_n - u_n \| + 2b_n^3 \delta [b_n^1 b_n^2 \delta^2 \| x_n - Tx_n \| + b_n^2 \delta \| x_n^1 - Tx_n^1 \| + \| x_n^2 - Tx_n^2 \|] + c_n^1 b_n^2 b_n^3 \delta^2 \| s_n^1 \| + c_n^2 b_n^3 \| s_n^2 \| + c_n^3 \| s_n^3 \| = (1 - w_n^3) \theta_n + r_n^3 + t_n^3$$

where $w_n^3 = b_n^3 (1 - \delta)$, $r_n^3 = m_n^3 v_n^2$, $m_n^3 = 2b_n^3 \delta$,
 $v_n^2 = b_n^1 b_n^2 \delta^2 \| x_n - Tx_n \| + b_n^2 \delta \| x_n^1 - Tx_n^1 \| + \| x_n^2 - Tx_n^2 \|$,
 $t_n^3 = c_n^1 b_n^2 b_n^3 \delta^2 \| s_n^1 \| + c_n^2 b_n^3 \delta \| s_n^2 \| + c_n^3 \| s_n^3 \|$.

Continuing the above process, we have

$$\| x_{n+1} - u_{n+1} \| \leq [1 - b_n^N (1 - \delta)] \| x_n - u_n \| + r_n^N + t_n^N = (1 - w_n^N) \theta_n + r_n^N + t_n^N$$

where $w_n^N = b_n^N (1 - \delta)$, $\theta_n = \| x_n - u_n \|$, $r_n^N = m_n^N v_n^{N-1}$, $m_n^N = 2b_n^N \delta$,
 $v_n^{N-1} = b_n^{N-2} b_n^{N-1} \delta^{N-1} \| x_n - Tx_n \| + b_n^{N-1} \delta^{N-2} \| x_n^{N-2} - Tx_n^{N-2} \| + \| x_n^{N-1} - Tx_n^{N-1} \|$,
 $t_n^N = c_n^{N-2} b_n^{N-1} b_n^N \delta^{N-1} \| s_n^{N-2} \| + c_n^{N-1} b_n^N \delta^{N-2} \| s_n^{N-1} \| + c_n^N \| s_n^N \|$.
By Lemma 1.5, let
 $w_n^N = \lambda_n$, $\theta_n = \| x_n - u_n \|$, $\delta_n = r_n^N$, $\gamma_n = t_n^N$, $\Rightarrow \qquad \theta_{n+1} \leq (1 - \lambda_n) \theta_n + \delta_n + \gamma_n$
 $\gamma_n \ge 0$, $\sum_{n=0}^{\infty} \lambda_n = \infty$, $\sum_{n=0}^{\infty} \gamma_n = \infty$ and $\delta_n = o(\lambda_n)$

Hence, the assumptions in Lemma 1.5 are satisfied, $\Rightarrow \lim_{n \to \infty} \theta_n = 0$. Next, we show that $\lim_{n \to \infty} u_n = p$. By assumption, $\lim_{n \to \infty} x_n = p$, $p \in F(T)$. $||u_n - p|| \le ||u_n - x_n|| + ||x_n - p||$ = $\| = 0$

$$\Rightarrow \qquad \qquad \lim_{n \to \infty} \| u_n - p \|$$

Hence, $\lim_{n\to\infty} u_n = p$. This shows that (i) \Longrightarrow (ii).

(ii) \Rightarrow (i) is obvious if we let $c_n^1 = c_n^2 = \dots = c_n^N = 0$ in (1.8).

Therefore, the convergence of multistep iteration and multistep iteration with errors are equivalent for a class of quasi-contractive operators.

Theorem 2.1 leads to the following corollaries.

Corollary 2.1

Let X be a normed space, K a non-empty, convex, closed subset of X and $T: K \to K$ and operator satisfying the Zamfirescu conditions $(Z_1 - Z_3)$. Let $u_0 = x_0 \in K$ and define $\{u_n\}$ respectively by (1.2), (1.4), (1.6), (1.8); and { x_n } respectively by (1.3), (1.5), (1.7) and (1.9). If $\lim_{n \to \infty} c_n^i = 0$ for each i, then the

following are equivalent:

- (A) (i) The Noor iteration (1.7) converges to p.
- (ii) The Noor iteration with errors (1.6) converges to p.
- (B) (i) The Ishikawa iteration (1.5) converges to p.
 - (ii) The Ishikawa iteration with errors (1.4) converges to p.
- (C) (i) The Mann iteration (1.3) converges to p.
- (ii) The Mann iteration with errors (1.2) converges to p.

Theorem 2.2 [15, Thm 2.1]

Let E be a normed space, D a non-empty, convex, closed subset of E and $T: D \rightarrow D$ a

Zamfirescu operator. Suppose that T has a fixed point $q \in D$. Let $\{p_n\}_{n=0}^{\infty}$ be defined by (1.1) for $p_0 \in K$

and let $\{u_n\}_{n=0}^{\infty}$ be defined by (1.2) for $u_0 \in K$, then the following are equivalent:

- (i) The Picard iteration (1.1) converges to the fixed point of T.
- (ii) The Mann iteration (1.2) converges to the fixed point of T.

Theorem 2.3 [15, Thm 2.3]

Let E be a normed space, D a non-empty, convex, closed subset of E and $T: D \rightarrow D$ a

Zamfirescu operator. Suppose that T has a fixed point $q \in D$. Let $\{p_n\}_{n=0}^{\infty}$ be defined by (1.1) for $p_0 \in K$

and let $\{x_n\}_{n=0}^{\infty}$ be defined by (1.3) for $x_0 \in K$, then the following are equivalent:

- (i) The Picard iteration (1.1) converges to the fixed point of *T*.
- (ii) The Ishikawa iteration (1.3) converges to the fixed point of T.

Theorem 2.4 [11, Thm 3]

Let *X* be a normed space, *X* a non-empty, convex, closed subset of *X* and *T*: $D \rightarrow D$ an operator satisfying the conditions ($Z_1 - Z_3$). If $u_0 = x_0 \in K$, then the following are equivalent:

- (i) *The Mann iteration* (1.3) *converges to the fixed point of T.*
- (ii) The multistep iteration (1.9) converges to the fixed point of T.

Corollary 2.2 [11, Cor 2]

Let *X* be a normed space, *D* a non-empty, convex, closed subset of *X* and *T*: $D \rightarrow D$ an operator

satisfying the condition Z. If the initial point is the same for all iterations, $\alpha_n \ge A > 0 \quad \forall n \in N$, then the following are equivalent:

(i) *The Mann iteration* (1.3) *converges to the fixed point of T.*

(ii) The Ishikawa iteration (1.5) converges to the fixed point of T.

- (iii) The Noor iteration (1.7) converges to the fixed point of T.
- (iv) The multistep iteration (1.9) converges to the fixed point of T.

In view of Theorem 2.1, Corollaries 2.1 and 2.2, Theorems 2.2 and 2.3, we have the following: *Corollary* 2.3

Let X be a normed space, K a non-empty, convex, closed subset of X and T: $K \rightarrow K$ an operator satisfying the Zamfirescu conditions $(Z_1 - Z_3)$. Let $u_0 = x_0 \in K$, and define $\{u_n\}$ respectively by (1.2), (1.4), (1.6),

(1.8) and $\{x_n\}$ respectively by (1.1), (1.3), (1.5), (1.7) and (1.9). If $\lim_{n \to \infty} c_n^i = 0$ for all *i*, then the following are

equivalent:

- (i) *The Picard iteration* (1.1) *converges to the fixed point of T.*
- (ii) The Mann iteration (1.3) converges to the fixed point of T.
- (iii) The Mann iteration with errors (1.2) converges to the fixed point of T.
- (iv) The Ishikawa iteration (1.5) converges to the fixed point of T.

- (v) The Ishikawa iteration with errors (1.4) converges to the fixed point of T.
- (vi) The Noor iteration (1.7) converges to the fixed point of T.
- (vii) The Noor iteration with errors (1.6) converges to the fixed point of T.
- (viii) The multistep iteration (1.9) converges to the fixed point of T.
- (ix) The multistep iteration with errors (1.8) converges to the fixed point of T.

3.0 Conclusion

Our result extends and generalizes the result of Soltuz [11,12] in the sense that it considered the various iterations schemes with their errors, whereas the author [11,12] considered them without their errors. Olaleru [10] did not consider the Noor and Multistep iterations for this class of operators

References

- [1] V. Berinde (2002). Iterative approximation of fixed points, Baia Mare, Efemeride.
- [2] V. Berinde (2004). On the convergence of the Ishikawa iteration in the class of quasi-contractive operators, Acta Math. Univ. Comenianae, LXXIII, 119-126.
- [3] S. K. Chatterjea (1972). Fixed point theorems, C. R. Acad. Bulgare Sci. 25, 727-730.
- [4] S. Ishikawa (1974). Fixed points by a new iteration method, Proc. Amer. Math. Soc. 149, 147-150.
- [5] R. Kannan (1968). Some results on fixed points, Bull Calcutta Math. Soc. 10, 71-76.
- [6] L. S. Liu (1995). Ishikawa and Mann iteration process with errors for nonlinear strongly accretive mappings in Banach spaces, J. Math. Anal. Appl. 194, 114-125.
- [7] W. R. Mann (1953). Mean value methods in iteration, Proc. Amer. Math. Soc. 4, 506-510.
- [8] A. Rafiq (2006). On the equivalence of Mann and Ishikawa iteration methods with errors, Math. Commun. 11, 143-152.
- M. A. Noor (2000). New approximation schemes for general variational inequalities. J. Math. Analysis & Applications, Vol. 251, No. 1, pp 217-229.
- [10] J. O. Olaleru (2007). On the equivalence of Picard, Mann and Ishikawa iterations for a class of quasicontractive operators, J. Nig. Assoc. Math. Phys., Vol. 11, 51-56.
- [11] S. M. Soltuz (2005). The equivalence of Picard, Mann and Ishikawa iterations dealing with quasi-contractive operators, Math. Commun. 10, 81-88.
- [12] S. M. Soltuz (2007). The equivalence between krasnoselskij, Mann, Ishikawa, Noor and multistep iterations, Math. Commun. 12, 53-61.
- [13] Y. G. Xu (1998). Ishikawa and Mann iteration process with errors for non-linear strongly accretive operator equations, J. Math. Anal. Appl. 224, 91-101.
- [14] B. S. Thakur, J. S. Jung (2007). Weak and Strong convergence of multistep iteration for finite family of asymptotically nonexpansive mappings. Hindawi Publishing Corporation, fixed point theory and applications, article 1D 31056, 15 pp.
- [15] T. Zamfirescu (1972). Fixed point theorems in metric spaces, Arch. Math. (Basel) 23, 292-298.
- [16] X. Zhiqun (2007). Remarks of equivalence among Picard, Mann and Ishikawa iterations in normed spaces, Hindawi Publishing Corporation, Fixed point theory and applications, Article 1D 61434, 5 pp.